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A cirealar coil oF 20 [oops and o vadivs of (2 em Si‘l“h‘(z, in a
mag Feld of 0.4T diaded outob the page.  The looy is cemoved
fom He Lolk in 0.25s.
a. What is 1le averays mduced EMF?
b. |Jhat dicechon does The cument flov?
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%) Show The north and ssuth poles induccod m e solenoid (coil)
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A civeular coil of 20 [oops and o vadivs of |7 em Si‘H:\\:l in a
Wlaj leﬂ{ 0} 0.¢T dn‘rw‘ed 0u+ 0}‘ 'ﬂ\c,)n;( TL\(, {oop s removed

#mm He FLolh in 0.25s.
a. What is 1l averays induced EMFT ﬂ
b, hat dirschin dos T cument flousT Q
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a = < Naf % -N2BA --(0)(0-(-68T)(0.12w)

+ + 0.7 5
=-72.9y

b. EMF s vu,th’\Ie /n\ue p‘ore P,;w’} Db out a'ﬂoq}p
&vm LU W curvent s counter clock wist e

2) What divechon dow carvent Pl ta e loop shorn?
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2) Show the north and south poles induceod ta He  solenscd (coil)
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